B;n Accuq_.—‘JQSUDE“'

BY NORCO INDUSTRIES & EXPANDABLE ROOM SYSTEM

Chain Replacement

CHAIN CONNECTION TO MOTOR CHAIN CONNECTION TO MOTOR

»O« — == B

s =y
I e ST mp

No

MOTORS MOUNTED WITH SPROCKET DOWN
MOTORS MOUNTED WITH THE SPROCKET UP
When the motor assembly is installed, the center of the motor sprocket should be aligned with the
center of the rough opening in the side wall of the RV. The motor end of the assembly should be tilted
1/4" away from the chains when mounted to the wall, to avoid collision with the cable and chain
adjustment brackets.

If possible, run the slide out room to the out position and support the room, from outside the unit, under the box
using a floor jack and a 2”x4”. This will keep the room secure when removing tension from the cables and
chains. If the room will not extend with normal switch operation, you can attempt to engage the gears in the
gearbox by pushing the box out while the switch is being pressed.

Remove any fascia to gain access to the motor, gearbox, and adjustment brackets.

Before disconnecting either chain, you will want to mark the chains in their current position. The best
way to do this is with a couple zip ties or two pieces of wire. Run the zip tie or wire through the open link in the
chain closest to the sprocket.

Cut the new chain the exact same length as the original chain and mark the new chain at the exact same link
with a wire tie to match the other chain.

Loosen the cable and chain coupler nuts on both the In and Out adjustment brackets.

Remove the screws from the chain connector and insert the new chain, reinstall the screws, and repeat this
process at the other end of the chain.

Wrap the chain around the sprocket, ensuring that the chain is on the correct sprocket (based on motor
orientation) and the correct chain link is engaged on the correct sprocket tooth. The adjustment brackets on the
right- and left-hand side of the gearbox sprocket should be the exact same distance from the sprocket on both
sides. This will ensure the chains are properly timed together on the left- and right-hand side.

If the room is in the half in/half out position, do both chains
have the same number of links from the adjustment bracket
to the motor sprocket?

# of Links
A g . #of Links 2
7o ( - 5
7 Ie 2 9!
o & 5
// o o ) B

BAL RV PRODUCTS = 2600 Jeanwood Drive = Elkhart, IN 46514 = B877-337-7788 = www.balrvproducts.com



B;[; Accuq_%SUDE"‘

BY NORCO INDUSTRIES & EXPANDABLE ROOM SYSTEM

CENTER. LINE OF OPENING w '
I

1/2" REF
r :

ROUGH OPENING

#12 % 1" MIN LENGTH HEX HEAD
WOOD SCREW OR EQUIV. (4X)

854164 NUT, COUPLING 1/4-20 X .875 LENGTH (CABLE ADJUSTMENT)

R854323 CHAIN, ROLLER ANSI NO.35 (CHAIN)

22504 CABLE CHAIN ADJUSTMENT KIT (INCLUDES THE FOLLOWING):

#4 BOLT, HHCS 1/4-20 X 2.50IN FULL THD GR5 ZINC (CHAIN END)

#3 NUT, HEX 1/4-20 ZINC (LOCKS BRACKET IN VERVICAL POSITION)

#1 SCREW, #8-32 X .625IN TAPTITE 1P20 BLACK OXIDE (ATTACHES CHAIN TO BOLT WITH STRAP)
#5 STRAP, CHAIN CONNECTOR (ATTACHES CHAIN AND BOLT)

#2 NUT, COUPLING 1/4-20 X 1.750 (CHAIN ADJUSTMENT)

NOTE: The system will need to be tensioned properly with the room full exteneded using the BAL guidelines:
https:/lyoutu.be/dUIW7kkJa5I

BAL RV PRODUCTS = 2600 Jeanwood Drive = Elkhart, IN 46514 = B77-537-7788 = www.balrvproducts.com


https://youtu.be/dUIW7kkJa5I

